Raices Cubicas (F)

Halle cada raiz.

78 - 9507 = 274
V42875 = 512 = 339304
J79507 = 50,653 = /6,859
764 = 729 = /8,000
/729 - B8 = 42875
Ja913 = JYsa872 = 85,184
J46,656 = 79507 =__ 10,648
J1 = J1000 = 13824
V54872 = J583%2 = 6839
JII28 = JI28 = /32,768
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Raices Cubicas (F) Respuestas

Halle cada raiz.

NG =2 J79,507 =43 V2,744
V42,875 =35 512 =3 5/39,304
779,507 =43 V50,653 =37 76,859
764 =4 /729 =9 /8,000
/729 =9 32,768 =32 /42,875
Y1013 =17 J354872 =38 85,184
746,656 =36 79,507 =43 /10,648
N — | 1,000 =10 /13,824
V54872 =38 5832 =18 76,859

J1,728 =12 J1,728 =12 332,76
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